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FOREWORD

The Candidates’ Item Response Analysis Report for the Advanced Certificate of
Secondary Education Examination (ACSEE) 2020 on Accountancy has been
prepared in order to provide feedback to the students, teachers, parents, policy
makers and other educational stakeholders on the performance of the candidates in
the subject. The feedback provided will enable education administrators, school
managers, teachers and other stakeholders to decide on appropriate measures in
order to improve students’ performance in future examinations.

The Advanced Certificate of Secondary Education Examination (ACSEE) marks
the end of two years of advanced secondary education. This is a summative
evaluation which, among other things, shows the effectiveness of the education
system and the education delivery system in particular. The candidates’ responses
to the examination questions is a strong indicator of what the education system was
able or unable to offer to the students in their two years of advanced secondary
education life cycle.

The report highlights some of the reasons which made some of the candidates to
score low marks in the questions. Such reasons include inadequate knowledge and
practical skills of accounting concepts, misunderstanding question requirements
and the failure to provide relevant and clear explanations or descriptions to the
mentioned points. The report also highlights some of the reasons which made some
of the candidates to perform high in some questions. Such reasons include
adequate knowledge and practical skills in the respective concepts, the ability to
understand question requirements and the provision of proper explanation and
description.

The National Examinations Council of Tanzania would like to thank all staff
members, examiners and others who participated in the preparation of this report.
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1.0

INTRODUCTION

This report analyzes the candidates’ performance in Advanced Certificate of
Secondary Education Examination (ACSEE) for Accountancy. The
examination items measured competences according to the 2009
Accountancy syllabus and the 2019 Revised Examinations Format.

The examination comprised of two (2) papers, 153/1 Accountancy 1 and
153/2 Accountancy 2. Each paper consisted of eight (8) questions which were
divided into two sections; section A and B. The candidates were required to
attempt any seven (7) questions in each paper by answering all questions in
section A and three (3) questions from section B. Each question in section A
carried ten (10) marks and in section B each question carried twenty (20)
marks.

According to the ACSEE 2020 results, a total of 1,346 candidates sat for 153
Accountancy examination out of which 1,324 (98.66%) candidates passed the
examination with the following grades: A, 1.49 per cent; B, 11.18 per cent;
C, 27.79 per cent, D, 35.99 per cent, E, 19.23 per cent, S, 2.98 per cent and
1.34 per cent failed. The performance of candidates in Accountancy
examination in the year 2020 indicates an increase in the candidates' pass rate
by 2.58 per cent compared to the year 2019 in which the number of
candidates who passed the examination was 1,544 (96.08%).

In this report, the analysis of candidates’ performance in questions 1 to 4 in
both papers; Accountancy 1 and Accountancy 2 is categorized as poor,
average and good if the scores range from 0 to 3 marks, 3.5 to 5.5 marks and
6 to 10 respectively out of the 10 marks allotted for each question. The
analysis of candidate's performance for questions 5 to 8 in both papers is
categorized as poor, average and good if the scores range from 0 to 6.5
marks, 7 to 11.5 marks and 12 to 20 respectively out of the 20 marks allotted
for each question.

The performance in each question is rated poor, average or good if the
percentage of candidates who scored from 35 per cent or above of the total
marks of the question falls in the range of 0 - 34, 35 - 59 or 60 - 100
respectively. These three categories of performance are indicated by using
green, yellow and red colours which denote the good, average and poor
performance.



2.0

2.1

The report also presents the requirements for each question, the percentage of
the candidates who attempted the question with their scores and the possible
reasons for performance. Some extracts obtained from the candidates’
examination scripts and graphs that indicate distribution of candidates’ scores
are included in this report for clarity. It is expected that this report will be
useful to students, teachers and other education stakeholders to enable them
to locate areas where the candidates face learning difficulties so as to make
improvement in the teaching and learning process.

ANALYSIS OF THE PERFORMANCE OF THE CANDIDATES IN
EACH QUESTION

Accountancy 1

2.1.1 Question 1: Recognition of Revenue and Expenses
The candidates were required to write brief explanations on Revenue,
Expense, Prepayment and Accrual. The question intended to assess the
candidates’ understanding of the selected terms in accountancy.

The question was attempted by 1,334 (99.1%) candidates, out of which
92 (6.9%) scored from 0 to 3 marks, 212 (15.9%) scored from 3.5 to
5.5 marks and 1,030 (77.2%) scored from 6 to 10 marks. The
candidates’ performance in this question was good since the number of
candidates who scored from 3.5 to 10 marks 1,242 (93.1%) was higher
than the percentage of candidates who scored from 0 to 3 marks 92
(6.9%). Figure 1 shows the performance of the candidates in question
1.
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Figure 1: The performance of the candidates in Question 1

Percentage of Candidates
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The analysis of candidates’ responses in question one shows that 1,030
(77.2%) candidates scored from 6 to 10 marks. These candidates wrote
clear explanations about the meaning of the accountancy terms given.
The candidates also managed to provide relevant examples to support
their explanations. However, some candidates misspelled some words
and others could not answer one or two of the given terms; hence the
variation of their scores from 6 to 10 marks. These responses indicate
that the candidates had adequate knowledge of the meaning of the
selected accounting terms. Extract 1.1 is a sample of a good response

from one of the candidates.
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Extract 1.1: A sample of a good response in Question 1
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The candidates with average performance in this question 212 (15.9%)
were able to provide reasonable explanations about the meaning of the
given accounting terms on one or two of the given terms. Their
average performance suggests that the candidates had satisfactory
understanding of the selected accounting terms.

The candidates who performed poorly in this question 92 (6.9%) most
of them lacked knowledge of the accountancy terms given. These
candidates wrote explanations which were inconsistent to the terms
asked. For example one candidate wrote Revenue refers to the
difference between total revenue and total costs (TR — TC). This
response indicates that the candidate lacked knowledge of the meaning
of the term revenue and was trying to relate it with some concepts of
economics and costing. Also, it was noted that some candidates in this
category lacked proficiency in the English language. These candidates
wrote phrases out of which one cannot derive any meaning. For
example, while trying to provide explanations about the meaning of
the term “Prepayment”, a candidate wrote, Prepayment is are paid
made future but will not paid. This response suggests that the
candidate had a problem of expressing him or herself in English.
Nevertheless, there were candidates who tried to provide explanation
to one out of the four terms leaving the others unattempted. These
responses suggest that the candidates lacked knowledge of the
meaning of the given accounting terms. Extract 1.2 is a sample of a
poor response from one of the candidates.

\

L0 Yoo &n(zo\r 10 QQUOTe b 00

(&) Mmy MR o (on o Y o

Owatng,
U

Extract 1.2: A sample of a poor response from a candidate



2.1.2 Question 2: Depreciation and Disposal of Non-Current Assets
The candidates were required to prepare the Plant, Provision for
Depreciation on Plant and Plant Disposal accounts for the two years
ended 31° December 2017 and 2018.

The question was attempted by 1,333 (99%) of the candidates, out of
which 50 (3.8%) scored from 0 to 3 marks, 349 (26.1%) scored from
3.5 to 5.5 marks and 934 (70.1%) scored from 6 to 10 out of the 10
allotted marks. The candidates' performance in this question was good
since majority of the candidates 1,283 (96.2%) scored from 3.5 to 10
marks. Figure 2 is a summary of the general performance in question
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Figure 2: The Performance of the Candidates in Question 2
The candidates with good performance in this question 934 (70.1%)
prepared the plant account accurately. Most of these candidates were
able to compute correct amounts of annual depreciation on Plant,
recorded them correctly in the provision of depreciation account and
determined the correct amount of profit on disposal of the Plant. Most
of the candidates created correct entries for the profit on disposal of the
plant in the Plant Disposal account. However, other candidates in this
group computed wrong amounts of the annual depreciation of the plant
and their records in the accounts contained erroneous amounts,
narrations, reversed entries and entries posted to the wrong side of the
accounts; hence, their scores ranged from 6 to 10 marks. These
responses indicate that the candidates are competent enough in
accounting for depreciation and disposal of non-current assets. Extract
2.1 is a sample of a good response from a candidate who opened the
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Plant, Provision for Depreciation on Plant and Plant Disposal accounts

and made correct entries in the accounts for the two years ending 31%
December 2017 and 2018.
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Extract 2.1: A sample of a good response from a candidate



The candidates who scored from 3.5 to 5.5 marks 349 (26.1%) opened
the required accounts. However, their records in the accounts
contained a mixture of correct and wrong entries; hence they could not
score higher marks. Their scores ranged from 3.5 to 5.5 marks. The
analysis of their responses indicates that the candidates had
satisfactory knowledge and competence in accounting for depreciation
and disposal of non-current assets.

The candidates who scored from 0 to 3 marks in this question 50
(3.8%) could not produce the required responses. A large number of
candidates in this category could not open all the required accounts.
These candidates opened a plant account without or with entries with
wrong amounts and narrations. Further analysis of candidates’
responses shows that the candidates in this category could not compute
the correct amounts of annual depreciation of the plant. These wrong
amounts of annual depreciation lead to wrong entries in the accounts.
However, some candidates in this category were able to open the
required accounts but could not accurately apply the principle of
double entry in recording the transactions; hence their records in the
accounts to a large extent were reversed and incomplete. Nevertheless,
some candidates in this category lacked knowledge of the subject
matter. They credited the asset account with the disposal proceeds of
the plant (TZS 400,000) instead of transferring the cost of the plant
from the asset account to Plant disposal account by crediting the asset
account and debiting Plant Disposal account (TZS 1,000,000). Also,
there were candidates who credited the cost value of plant to the
provision for depreciation on plant account instead of the annual
amounts of depreciation. These responses are indicative of the
candidates’ lack of knowledge and competence in accounting for
depreciation and disposal of non-current assets. Extract 2.2 is a sample
of a poor response from one of the candidates.
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Extract 2.2: A sample of a poor response from a candidate

8




2.1.3 Question 3: The Nature and Context of Accountancy
The question required the candidates to record the given transactions
in the Double Column Cash Book of K. Potter, post the entries to K.
Young, T. Monk accounts and balance off the accounts at 31%
January, 2019.

The question was attempted by 1,313 (97.5%) of the candidates, out
of which 497 (37.9%) scored from 0 to 3 marks, 403 (30.6%) scored
from 3.5 to 5.5 marks and 413 (31.5%) scored from 6 to 10 out of the
10 allotted marks. The candidates' performance in this question was
good. Figure 3 shows a summary of the performance of the candidates
in question 3.
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Figure 3: The Performance of the Candidates in Question 3

The candidates who performed well in this question 413 (31.5%) were
able to open the double column cash book and record the transactions
correctly. Also, their postings of the entries from the cash book to K.
Young and T. Monk accounts were in most cases correct. The
candidates showed good analytical skills by sorting out the
transactions as to those which are recorded in the Cash column from
those which should be recorded in the bank column. Their proper
application of the rule for debiting and crediting accounts is a good
evidence of their ability to apply the principle of double entry in
recording financial business transactions. Extract 3.1 is a sample of a
good response from one of the candidates.
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Extract 3.1: A sample of a good response from a candidate
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The candidates who scored from 3.5 to 5.5 marks 403 (30.6%) adhered
to the requirement of the question by opening the double column cash
book and the accounts of K. Young and T. Monk. However, their
records of the transactions in the accounts contained some reversed
entries, entries in the cash column which should have been entered in
the bank column and vice versa, omissions of some transactions was
also observed. These errors and omissions made their scores to vary
from 3.5 to 5.5 marks. These responses suggest that the candidates had
satisfactory knowledge and competence of recording business
transactions in the columnar cash books and posting the entries to their
respective ledger accounts.

The candidates who scored from 0 to 3 marks 497 (37.9%) could not
produce the expected responses to the question. Most of these
candidates did not know which of the given transactions should be
entered in the cash column of the cash book and which ones in the
bank column; as a result they entered most of the transactions into the
wrong column of the cash book. Further analysis of candidates’
responses in this group show that some candidates did not know which
of the given transactions should be debited in the cash column and
which ones in the bank column; as a result they debited some
transactions in the cash column which should have been debited to
bank column and vice versa. Additionally, some candidates in this
category could not accurately apply the principle of double entry in
recording the financial business transactions; hence they reversed most
of the entries in the accounts by debiting what should have been
credited and vice versa. Likewise, some candidates entered credit
transactions in the cash book. This response suggests that the
candidates lacked knowledge of the fact that the cash book is used for
recording cash transactions only. Nevertheless, some candidates in this
group could not open the accounts of K. Young and T. Monk; hence
skipping part of the task of the question. These responses indicate that
the candidates lacked the competences of recording the financial
business transactions in the columnar cash books and the knowledge of
posting the entries to the ledger accounts. Extract 3.2 is a sample of a
poor response from one of the candidates.
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Extract 3.2: A sample of a poor response from a candidate

In Extract 3.2, the candidate prepared a cash book account with two
columns for K. Potter and T. Monk instead of the double column cash
book.
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2.1.4 Question 4: Investment Accounts
The question required the candidates to use the information provided
to prepare a 10% Government Stock Investment Account.

The question was attempted by 1,289 (95.8%) candidates, out of which
283 (22%) scored from 0 to 3 marks, 382 (29.6%) scored from 3.5 to
5.5 marks and 624 (48.4%) scored from 6 to 10 marks. The general
performance of the candidates in this question was good because 1,006
(78%) candidates scored from 3.5 to 10 marks. The candidates'
performance is summarised in Figure 4.

Scores

m0-3
3.5-55
m6-10

Figure 4: The Performance of the Candidates in Question 4.

The candidates who scored from 6 to 10 marks in this question 624
(48.4%) adhered to the requirements of the question. The candidates
were able to prepare the Government Stock Investment Account and
correctly record the information provided. Most of the candidates
accurately computed the cost and sales values of investments, the
amounts of interest included and those excluded from the purchase and
selling prices of the investments. Many of these candidates used
appropriate formulas to compute the profit on disposal of investments
and made accurate records of the transactions relating to the purchases
and sales of investments in the Government Stock Investment
Account. However, a few of these candidates had their records in the
accounts containing wrong amounts, reversed entries, entries posted to
the wrong side of the accounts and omission of some transactions;

hence the variation in the scores from 6 to 10 marks. These responses
13



suggest that the candidates were competent enough in recording the
transactions relating to purchases, valuation and disposal of
investments. The responses also indicate that the candidates had
adequate knowledge and skills necessary for the determination of
investment income and the profit or loss on sale of investments.
Extract 4.1 is a sample of a correct response from one of the
candidates.
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Extract 4: Sample of a good response from a candidate

The analysis of candidates responses shows that most of the candidates
who scored from 3.5 to 5.5 marks 382 (29.6%) were able to prepare
the required account and most of their entries in the Government Stock
Investment Account were correct. However, some candidates
computed wrong amounts of the profit on sale of investments and
investment income for the year. Also, some candidates could not
record all the transactions in the account. Despite the errors and
omissions observed in their accounting entries; their performance was
average and this indicates that the candidates had satisfactory
knowledge of the preparation of investment accounts.
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2.15

The most notable weakness displayed by the candidates who scored
from 0 to 3 marks 283 (22%) is limited knowledge of the subject
matter. Their responses contained a mixture of correct and incorrect
answers. The analysis of candidates’ responses show that some
candidates computed wrong values of purchases, selling prices and
value of ending inventory of the investments at the end of the financial
year. These responses imply that the candidates lacked the knowledge
and skills necessary for the valuation of investments. Likewise, some
of these candidates failed to compute accurately the amounts of profit
on sale of investments and the income from investments for the
specified year. This response suggests that the candidates lacked the
competences and techniques used in the determination of investment
income and the profit or loss on disposal of investments. Moreover,
some candidates in this group reversed most of the entries in the
investment account, they debited what should have been credited and
vice versa. This indicates that the candidates lacked knowledge of the
principle of double entry and its application in recording financial
transactions.

Question 5: Preparation of Financial Statements

In this question, the candidates were required to prepare Mcheza
Kwao’s Income Statement for the year ending 31% March, 2019 and
the Statement of Financial Position as at 31 March 2019 from the
Trial Balance and additional information extracted from the books of
Mcheza Kwao.

The question was attempted by 1,249 (92.8%) candidates, out of which
43 (3.4%) scored from 0 to 6.5 marks; 399 (32%) scored from 7 to
11.5 marks and 807 (64.6%) scored from 12 to 20 out of the 20
allotted marks. The general performance of the candidates in this
question was good. Figure 5 shows the performance of the candidates
in question 5.
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Figure 5: The Performance of the Candidates in Question 5

The candidates who scored from 12 to 20 marks 807 (64.6%) were
able to prepare the financial statements. The candidates analyzed and
separated the elements of Income Statement from the elements of
Statement of Financial Position, made appropriate adjustments to the
amounts of revenues, expenses, liabilities and assets and skilfully
presented them in the financial statements. However, some errors and
omissions in the candidates' responses caused the scores to vary from
12 to 20 marks. These responses indicate that the candidates are
competent enough in the preparation of Financial Statements. Extract
5.1 is a sample of a good response from one of the candidates.
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Extract 5.1: A sample of a good response from a candidate
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In Extract 5.1, the candidate’s response was good. However, the
candidate included in the income statement prepaid insurance,
outstanding expenses, machinery installation cost which are not
relevant and wrong amount of depreciation on machinery; hence the
reported net profit for the year of TZS 1,230,000 was wrong. Also, the
values for machinery, bank balance, net profit, net assets and Capital
Employed in the statement of financial position are not correct.

The candidates, who scored from 7 to 11.5 marks 399 (32%), prepared
the financial statements of Mcheza Kwao with a moderate level of
accuracy. They were able to identify the items of revenue and expenses
from assets and liabilities. However, these candidates made wrong
adjustments in some of the items of revenues, expenses, assets and
liabilities. Omissions of some items in the Income Statement and the
Statement of Financial Position were also noted in the candidates'
responses. Despite the errors and omissions observed, the candidates
were able to perform averagely. This average performance indicates
that the candidates had satisfactory knowledge of the preparation of
financial statements.

The candidates who scored from 0 to 6.5 marks 43 (3.4%) could not
prepare the financial statements. Most of the candidates in this
category could not identify the elements of income statement from the
trial balance and the additional information provided. As a result, they
presented a mixture of expenses, assets and liabilities in the income
statement. Also, some candidates could not make adjustments for
accruals and prepayments for most of the items of financial statements;
thus, they presented a mixture of correct and incorrect amounts of
revenues, expenses, liabilities and assets in the financial statements.
These responses suggest that the candidates had limited knowledge of
the preparation of financial statements.

Nevertheless some candidates could not identify the items of revenue
from expenses hence; they presented a mixture of revenue and
expenses in the income statement. Consequently, the reported values
of total income, total expenses and net profit were not correct.
Moreover, some candidates included items of expenses and revenue in
the Statement of financial position. Also, some candidates could not
present all the items of revenue, expenses, assets and liabilities in the
financial statements. Further analyses of the candidates’ responses

19



shows that a considerable minority of the candidates presented the
financial statements in a horizontal format contrary to the requirement
of International Accounting Standard number 1 (IAS 1). These
responses suggest that the candidates lacked knowledge of the
preparation of financial statements. Extract 5.2 is a sample of a poor

response from a candidate who prepared the income statement in a
horizontal format.
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Extract 5.2: A sample of a poor response from a candidate
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2.1.6 Question 6: Branch Accounts
The candidates were required to use the information provided to
prepare the Branch Stock, Branch debtors, Branch Expenses, Branch
Stock Adjustment, Mwanza Branch accounts and branch Income
Statement in the books of the head office.

The question was attempted by 1,079 (80.2%) candidates, out of which
112 (10.4%) scored from 0 to 6.5 marks, 504 (46.7%) scored from 7 to
11.5 marks and 463 (42.9%) scored from 12 to 20 out of the 20
allotted marks. The candidates' performance in this question was good.
Figure 6 shows the candidates' performance in question 6.
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Figure 6: The Performance of the Candidates in Question 6

The candidates who performed well in this question 463 (42.9%) were
able to open all of the required accounts, applied the mark up of fifty
per cent to compute the profit loaded on the value of goods sent to the
branch, goods returned by the branch to the head office and the branch
opening and closing inventories. However, errors and omissions of
some transactions from their accounts were also observed. These
mistakes caused the variations in the scores from 12 to 20 marks.
These responses to the question suggest that the candidates had
adequate knowledge of branch accounting. Extract 6.1 is a sample of a
good response from a candidate who accurately prepared the branch
stock, branch debtors, branch stock adjustment and the branch income
statement.
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Extract 6.1: A sample of a good response from a candidate

On the other hand, the candidates who scored from 7 to 11.5 marks
504 (46.7%) had adequate knowledge of Branch Accounting since
they were able to make correct entries in the branch stock, Branch
debtors, Brach stock adjustment, Branch expenses, Mwanza branch
and the Brach income statement. However, omissions of some
transactions, accounts and reversal of some entries led to average
marks. The average performance suggests that the candidates had
satisfactory knowledge of branch accounting.

The analyses of candidates' responses show that the candidates who
scored from 0 to 6.5 marks 112 (10.4%) were not able to prepare the
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Branch Stock, Branch debtors, Branch Stock Adjustment, Branch
expenses and Branch income statement. Most of the candidates in this
category could not apply the mark up of fifty per cent in computing the
profit loaded on the value of goods sent to branch, goods returned by
branch to head office and branch opening and closing inventories.
Consequently, the candidates entered into the branch stock adjustment
and Mwanza branch accounts unadjusted values of goods. These
responses indicate that the candidates were not competent in branch
accounting. Other candidates were able to compute the correct
amounts of some transactions but reversed most of the entries in the
accounts. This implies that the candidates lacked application skills of
the principle of double entry in recording the financial business
transactions. Some candidates recorded transactions in wrong
accounts. For example, some candidates entered branch expenses in
the branch stock account instead of the branch expenses account. This
suggests that the candidates lacked analytical skills. Also, a minority
of the candidates did not prepare the branch income statement. These
candidates did not meet the demands of the question; hence they
scored lowly from 0 to 6.5. Extract 6.2 is a sample of a poor response
from one of the candidates.
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Extract 6.2: A sample of a poor response from a candidate
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2.1.7 Question 7: Financial Statements Analysis and Interpretation

The question had two parts, (a) and (b). In part (a) the candidates were
required to calculate Gross profit margin, Inventory turnover, Net
profit margin, quick (Acid test) ratio, Current ratio, Return on Capital
Employed, Interest Cover, and Debtors collection period in number of
days. In part (b), the candidates were required to use the result on net
profit margin and return on capital employed in 7 (a) as performance
indicators to compare the performance of the company between the
two years ending 31* December 2017 and 2018.

The question was attempted by 1,069 (79.4%) candidates, out of which
203 (19%) scored from 0 to 6.5 marks, 445 (41.6%) scored from 7 to
11.5 marks and 421 (39.4%) scored from 12 to 20 out of the 20
allotted marks. The candidates' performance in this question was
generally good since 866 (81%) candidates scored from 7 to 20 marks
as shown in Figure 7.

Scores
m0-6.5
7-11.5

m12-20

Figure 7: The Performance of the Candidates in Question 7

The candidates with good performance in this question 421 (39.4%)
were able to compute the required accounting ratios. The correct
percentages calculated in 7(a) for profit margin and returns on capital
employed were used to compare the performance of the Company
between the two years ending 31" December 2017 and 2018; their
conclusion was true, that the company performed well in the year 2018
compared to its performance in 2017. These correct responses to the
question indicate that the candidates had adequate knowledge of
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financial statements analysis and interpretation. Extract 7.1 is a sample
of a good response from one of the candidates.
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Extract 7.1: A sample of a good response from a candidate
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Further analyses of candidates’ responses show that 445 (41.6%)
candidates had average performance. These candidates managed to
identify the formulas used in the computation of accounting ratios and
computed some of the required accounting ratios accurately.
However, inability to extract the required data from the financial
statements and limited computational skills made them compute wrong
accounting ratios. The average performance of the candidates could be
attributed to the candidates’ satisfactory knowledge of Financial
Statements Analysis and Interpretation.

On the other hand, the candidates who performed poorly in this
question 203 (19%) had various weaknesses. Some of them failed to
identify the appropriate formulas used to compute the required
accounting ratios while others were able to identify the formulas but
failed to extract the relevant data to be used in the formulas from the
financial statements. It was also observed that some candidates applied
wrong data in wrong formulas; consequently the candidates computed
wrong accounting ratios. Moreover, some candidates confused the
formulas for different accounting ratios and made inaccurate
computations of the required accounting ratios. Also, it was noted that
some candidates computed wrong accounting ratios because of
arithmetic errors in their responses. Further analysis shows that none
of the candidates in this group compared the performance of the
company between the two years ending 31% December 2017 and 2018
as the question required in 7(b). Such responses indicate that the
candidates lacked requisite competences in financial statements
analysis and interpretation. Extract 7.2 is a sample of a poor response
from one of the candidates.
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Extract 7.2: A sample of a poor response from a candidate
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2.1.8 Question 8: Correction of Accounting Errors
In this question, the candidates were required to use the information
provided to pass Journal entries to correct the given accounting errors
and prepare a Suspense Account.

The question was attempted by 616 (45.8%) candidates, out of which
275 (44.6%) scored from 0 to 6.5 marks, 263 (42.7%) scored from 7 to
11.5 marks and 78 (12.7%) scored from 12 to 20 out of the 20 allotted
marks. The candidates’ performance in this question was average
because 341 (55.4%) candidates scored 35 per cent or above as shown
in Figure 8.
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Figure 8: The Performance of the Candidates in Question 8

The candidates who performed poorly 275 (44.6%) were not able to
pass the Journal entries to correct the errors and could not prepare the
suspense account. Most of them could not identify the accounts
affected by the errors; thus they used wrong accounts to correct the
errors. Likewise, some candidates in this category could not identify
the effects of the errors on the accounts; hence they did not know
whether a particular account is to be corrected by increasing or
decreasing its balance. Also, some candidates reversed the entries in
the accounts because of poor application skills of the principle of
double entry. Further analyses of the candidates’ responses show that a
large number of candidates could not correct all the given accounting
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errors; thus, to a greater extent they avoided the task of the question
and as a result they scored lowly from 0 to 6.5 marks. Nevertheless,
there were candidates who did not prepare the suspense account. This
response suggests that the candidates did not meet the demands of the
question; consequently, they scored lowly. However, a few candidates
in this category were able to identify some of the accounts affected by
the errors, established the effects of the errors on the accounts and
corrected the errors accordingly. This caused the variation of the
scores from 0 to 6.5 marks. Generally, the responses of the candidates
in this group suggest that the candidates were not competent in the
correction of accounting errors.

The candidates, with average performance in this question 263
(42.7%) were able to address the demands of the question. They
prepared the journal entries and the suspense account. However, their
entries in the journal contained some reversed entries, wrong accounts,
wrong narrations and uncorrected errors. Also, a few of the amounts
entered into the journal were not correct; hence they scored average
marks. This average performance indicates that the candidates had
satisfactory knowledge of the correction of accounting errors.

The candidates who scored from 12 to 20 marks 78 (12.7%) were able
to correct the accounting errors and prepared the suspense account.
Most of these candidates managed to identify the accounts affected by
the given accounting errors and made appropriate entries in the general
journal to correct them. These candidates had good understanding of
the effects of the errors on the accounts; thus they knew the required
action to reverse the effects of the errors. Consequently, their
correcting journal entries were correct. Most of these candidates
prepared the suspense account and made correct postings from the
journal. Their scores ranged from 12 to 20 marks depending on the
number of errors and omissions in their responses to the question.
These responses indicate that the candidates had adequate knowledge
of the correction of accounting errors.
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2.2 Accountancy 2

2.2.1 Question 1: Auditing

This question required the candidates to write brief explanations on the
following accounting terms: Auditing, Audit Working Papers, Audit
Programme and Internal Audit.

The question was attempted by 1,330 (98.8%) candidates, out of which
123 (9.2%) scored from 0 to 3 marks, 225 (17%) scored from 3.5 to
5.5 marks and 982 (73.8%) scored from 6 to 10 out of the 10 allotted
marks. The candidates’ performance in this question was good since
1,207 (90.8%) per cent of the candidates scored 35 per cent or above
of the allotted marks. Figure 9 shows the candidates' performance in
question 1.
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Figure 9: The Performance of the Candidates in Question 1

The candidates who performed well in this question 982 (73.8%) were
able to write relevant and clear explanations on the given audit terms.
Their scores ranged from 6 to 10 marks depending on the level of
relevance, clarity of explanations and examples provided to support
their explanations. Extract 8.1 is a sample of a good response from one
of the candidates.

32



JECTION A

a).

‘Aud‘nh‘ng

Ths wdovs b fhe prociy nvlves [t tods  podirt Bam qohen

C\I"‘I MruQ'Fl\Uh O(l H'& ﬁl;\c_m‘_tajl rPPcY{’J Gn(i Vﬁ‘"ﬂu ‘jT.LClﬁr’nfrfﬁ

l‘)q an mlpppﬂfw* aurl:hfr in Urn[!r: h) (_"n,e([( HLP fm ancf

A | — —
'Fn,lf' b—iﬂ‘ﬁ Gfﬂ’\(ﬂ? Gcfnanc:ar I'PFOVEJI Th!n' 5] p-\\;u(\](j C‘L\M

by ao tnivr?n& ot poien @lid audiby Bk fraed b 4

) Au&t’( WUYklnq pc\p(hr

Thl‘ oty l’ﬁﬂﬂ Jmmaw pup(’v uip(] in fﬁfwd'ﬂq (L(“cfm(r

Gnc| Pr«mvmq the work UJ- O‘m-J aud Thu mmnﬁ\, Lcino'

'qan uw“‘*' h?l-@?ﬂw Onc' Jummqn)_(l hwv Qudff‘ va&m

{LUE [mtm & Qaul hv

@\d ¥ %qmnmn

T\w\f H’iﬂ’u {tf'ru q“ Q,un[+ P‘c\ni rhcd l.dflf,’wltf be ﬁ’l’fomﬁl

Lq o awhlvr whon (Upcfurﬁnq an  Gudd in e ('}_ij\m?aﬁw

T\m irm)uu nﬂj (,\" PrFCQ(’uH’J ar\(" \fmk'l_llj U-T}& in u,)q(;\

n’\.\ GJ«,({ h\r AT{I\I II'O j@' a.Hf‘ mp 'N ir\)“! o *)_h{‘r“q‘;‘ [r

f

Uﬁ",y v l (1 fir {(" fl e s

M‘m'\f fudit

Hnl 1§ e t,;pf b adl whih Condiced 0 The w;janmdi

LL‘! G0 !f‘ktuﬂ ufl I“t\v* LJ‘ tJ G m‘fJuJ(p Uj ”‘f f‘“nf”‘/ M

freay d 11: awcliby u&rri 1J (ks fluger whe p Hhe o f‘rr.vll_;[p

i fhe (rqmﬂkﬁr apd (s fhain rm[. Osf— ﬂnr mdﬁr

| t’b Wn{q 0])4( ﬁJﬁJJr on [h ,lnﬂl'nuj Conhof J\/Jhm J—‘Hﬁe

Companyy

Extract 8.1: A sample of a good response from a candidate
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The candidates with average performance 225 (17%) were able to
provide reasonable explanations of the given audit terms. They wrote
relevant and clear explanations on one or two of the given terms. Their
scores ranged from 3.5 to 5.5 marks implying that the candidates had
satisfactory understanding of the meaning and implication of the
terminologies used in auditing.

Conversely, the candidates who scored low marks 123 (9.2%) lacked
knowledge of auditing terminologies. Majority of the candidates in this
category could not answer all the given auditing terminologies and
responded to only one or two of the terms indicating that the
candidates lacked thorough understanding of the terminologies.
Moreover, a minority of the candidates in this group wrote
incomprehensible sentences. For example, a candidate wrote Internal
audit that are person who employed in the firm in order to
investigation in the internal organisation. In the same instance a
candidate wrote Audit programme that involved auditing were audit
used in the management it case to know management to be continuous.
Such a response suggests that the candidates lacked proficiency in the
English language. Furthermore, some candidates in this category failed
because they could not meet the demands of the question; they avoided
the task of the question by not attempting it. Extract 8.2 is a sample of
a poor response from a candidate who wrote meaningless phrases.
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Extract 8.2: A sample of a poor response from a candidate
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2.2.2 Question 2: Computerised Accounting
The question required the candidates to briefly explain four devices
which are used to input data into a computer.

The question was attempted by 1,297 (96.4%) candidates, out of which
281 (21.7%) scored from 0 to 3 marks; 405 (31.2%) scored from 3.5 to
5.5 marks and; 611 (47.1%) scored from 6 to 10 out of the 10 allotted
marks. The candidates’ performance in this question was good since
1,016 (78.3%) candidates scored 35 per cent or above. Figure 10
shows the performance of the candidates in question 2.
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Figure 10: The Performance of the Candidates in Question 2
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The candidates who scored from 6 to 10 marks in this question 611
(47.1%) wrote relevant and clear explanations on four selected devices
which are used to enter data into a computer. The devices used to input
data into a computer include the Keyboard, Mouse, Microphone,
Touchpad, scanner, Joystick, Touch screen Monitor and Webcam. The
candidates in this group were able to identify four or three of these
devices and write brief explanations on the meaning and how the
devices are used to enter data into a computer. Their scores varied
from 6 to 10 marks depending on the relevance and clarity of
explanations. The responses indicate that the candidates had adequate
knowledge of the computer input devices. Extract 9.1 is a sample of a
good response from one of the candidates.
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Extract 9.1: A sample of a good response from a candidate

36




On the other hand, the candidates with average performance 405
(31.2%) were able to identify two or three of the required devices.
However, their explanations were not exhaustive and lacked clarity.
Also it was noted that some candidates in this category listed four
input devices of a computer without explanations. Their scores ranged
from 3.5 to 5.5 marks. Their average performance suggests that the
candidates had satisfactory knowledge of the computer input devices.

The analysis of candidates’ responses show that, the candidates who
performed poorly in this question 281 (21.7%) could not interpret the
question. Some candidates provided explanations to functions of a
computer instead of computer input devices. This response suggests
that either the candidates did not know what the input devices are or
they were doing a guess work because they did not know the devices
that are used to enter data into a computer. It could as well mean that
the candidates can not differentiate between the input devices and
functions of a computer. Likewise, there were candidates who
provided explanations to application programs instead of input
devices. For example, a candidate explained the meaning and
application of Microsoft Word, Microsoft Excel, Microsoft Access and
Power point. This response indicates that the candidate lacked
knowledge of the computer input devices and failed to differentiate
between the input devices and application programs. Nevertheless,
there were candidates who provided explanations about the advantages
of computers instead of the input devices. Further, analysis of
candidates’ responses show that some candidates in this group failed
because of lack of proficiency in the English language. In their
explanations about the computer input devices, the candidates wrote
meaningless phrases. However, some candidates were able to list one
or three of the required devices; hence the variation of the scores from
0 to 3 marks. Extract 9.2 is a sample of a poor response from a
candidate who wrote explanations about the functions of computers
instead of the computer input devices.
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Extract 9.2: A sample of a poor response from a candidate

In Extract 9.2, the candidate explained functions of a computer instead of
devices which are used to input data into a computer.
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2.2.3 Question 3: Hire Purchase Accounting
The question required the candidates to use the information provided
to prepare the Sales, Tanganyika Packers Ltd, Hire Purchase Interest
Suspense accounts and the Hire Purchase Income Statement for the
year ended 31% December, 2019.

The question was attempted by 1,165 (86.6%) candidates, out of which
879 (75.5%) scored from 0 to 3 marks, 151 (12.9%) scored from 3.5 to
5.5 marks and 135 (11.6%) scored from 6 to 10 out of the 10 allotted
marks. The candidates' performance in this question was poor since
286 (24.5%) candidates scored 35 per cent or above. Figure 11 shows
the candidates' performance in question 3.
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Figure 11: The Performance of the Candidates in Question 3

The analysis of candidates’ responses shows that the candidates who
performed poorly in this question 879 (75.5%) faced multiple
challenges in attempting the question. Some candidates in this group
could not meet the demands of the question. These candidates avoided
the task of the question by omitting some of the required accounts.
Consequently they scored lowly from 0 to 3 marks. Further, analysis of
the responses show that some candidates failed because of lack of
knowledge of the subject matter. These candidates entered the hire
purchase price in the sales account and debited the same to the hire
purchase debtor’s account. As per the rules of hire purchase
accounting, the sales account is credited with the cash price of the item

purchased and the same is debited to hire purchase debtors. Moreover,
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some candidates in this category could not compute accurately the
amount of hire purchase interest. These candidates computed wrong
amounts of hire purchase interest; hence, their accounts contained
wrong entries. This implies that the candidates lacked knowledge of
the fact that the hire purchase interest is the difference between hire
purchase price of the item sold/purchased and its cash price. Likewise,
some candidates in this group failed because of incomplete records.
These candidates omitted most of the transactions in their accounts and
the few entries which they recorded contained either wrong amounts or
incorrect narrations. Also, it was observed that some candidates
reversed the entries in the accounts while others posted some entries to
the wrong side of the accounts. A few candidates in this group opened
the sales and Tanganyika Packers accounts and recorded one or five
correct entries. These responses indicate that the candidates lacked the
ability to apply the principle of double entry in recording the financial
business transactions. Extract 10 is a sample of a poor response from
one of the candidates.
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Extract 10: A sample of a poor response from a candidate
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The candidates with average performance in this question 151
(12.9%) were able to open the required accounts, but some entries in
the accounts were posted to the wrong side of the accounts, some
transactions were omitted from the accounts and some entries were
reversed. Also, there were candidates who entered wrong narrations
and amounts for the transactions and others left the accounts
unbalanced. Their scores varied from 3.5 to 5.5 marks. The average
scores suggest that the candidates had satisfactory knowledge of
accounting for hire purchase transactions.

The candidates who scored from 6 to 10 marks 135 (11.6%) had
adequate knowledge of the subject matter. Most of them opened the
required accounts. Computed the correct amount of hire purchase
interest and most of their entries in the accounts were correct. A few
candidates omitted the hire purchase income statement but were able to
score 6 or above of the 10 marks in the question.

Question 4: Containers Accounts

The question required the candidates to use the information provided
to prepare the Cases Stock and Cases Suspense Account for the year
20109.

The question was attempted by 1,334 (99.1%) candidates, out of which
24 (1.8%) scored from 0 to 3 marks, 63 (4.7%) scored from 3.5 to 5.5
marks and 1,247 (93.5%) scored from 6 to 10 out of the 10 allotted
marks. The candidates' general performance in this question was good
as shown in Figure 12.
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Figure 12: The Performance of the Candidates in Question 4
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The candidates, who scored from 6 to 10 marks in this question 1,247
(93.5%), demonstrated sufficient knowledge and mastery of the
subject matter. They opened the Cases Stock and Cases Suspense
accounts and computed the required amounts of the transactions
accurately. Most of them managed to record and post the transactions
from the Cases stock account to the Cases suspense account and
reported the accurate profit on cases usage of TZS 14,405. A few
candidates had their accounts containing wrong narrations, posting and
omission of some transactions. Nevertheless, they managed to score
from 12 to 20 out of the 20 marks of the question. Extract 11.1 is a
sample of a good response from one of the candidates.
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Extract 11.1: A sample of a good response from a candidate
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The candidates, with average performance in this question 63 (4.7%),
demonstrated adequate mastery of the subject matter and
computational skills. They were able to open the required accounts
and managed to record most of the transactions correctly. However,
omission of some transactions, wrong narrations and amounts for
some transactions were observed in their accounts. Other candidates
reversed one or two of the entries in one or two of the accounts. Their
scores varied from 3.5 to 5.5 marks. The average performance of
these candidates suggests that the candidates had satisfactory
knowledge of containers accounts.

The candidates who performed poorly in this question 24 (1.8%),
lacked sufficient knowledge of the subject matter. Most of them could
not draw the Cases Stock and Cases Suspense accounts properly.
Others computed wrong amounts of hiring profit, profit on sale of
scrapped cases and profit on retained cases. Further, the analysis of
candidates’ responses revealed that some candidates in this category
could not apply the principle of double entry in recording the
transactions. They recorded some items once, reversed some entries
or posted some items to the wrong side of the accounts. Moreover,
other candidates recorded wrong amounts in the accounts.
Consequently, their reported profit on cases usage was not correct.
The analysis of candidates’ responses shows that some candidates
opened the required accounts and recorded a mixture of correct and
wrong entries; hence the variation of the scores from 0 to 6.5 marks.
Extract.11.2. is a sample of a poor response from one of the
candidates.
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Extract 11.2: A sample of a poor response from a cahdidate
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2.2.5 Question 5: Accounting for Royalties
The question required the candidates to use the information provided
to prepare the Royalties Payable, Civil Estates Ltd and Royalties Short
Workings Accounts for the five years ended 31% December 2015,
2016, 2017, 2018 and 2019.

The question was attempted by 1,342 (99.7%) candidates, out of which
33 (2.5%) scored from 0 to 6.5 marks, 96 (7.1%) scored from 7 to 11.5
marks and 1,213 (90.4%) scored from 12 to 20 out of the 20 allotted
marks. The candidates' performance in this question was good. Figure
13 shows the candidates' performance in question 5.
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Figure 13: The Performance of the Candidates in Question 5

The candidates who performed well in this question 1,213 (90.4%)
were able to prepare the Royalties payable, Civil Estates Ltd and
Royalties short Workings Accounts. The candidates accurately
computed the amounts of actual royalties, short workings, short
workings recouped, irrecoupable short workings and the amounts of
royalties’ payable to Mikese Extractors Ltd. Most of the candidates
made correct entries in the relevant accounts. However, a few
candidates made some errors in recording the transactions in the
accounts. Such errors include omission of some entries in the accounts,
entries with wrong narrations or amounts, entries posted to the wrong
side of the accounts and reversed entries. Moreover, other candidates
could not record the amount of short workings written off as a result of
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the tenant’s failure to recover them within the time limit as stipulated
in the contract. These variations in the candidates’ responses caused
their scores to vary from 12 to 20 marks. The responses indicate that
the candidates had adequate knowledge and competence in Accounting
for Royalties. Extract 12.1 is a sample of a good response from one of
the candidates.
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Extract 12.1: A sample of a good response from a candidate

Furthermore, the candidates with average performance in this
question 96 (7.1%) adhere to the requirement of the question. They
opened the Royalties payable, Civil Estates Ltd and Royalties short
workings Accounts. However, some candidates could not compute the
correct amounts of actual royalties, short workings, short working
recouped, short workings written off and royalties’ payable to Land
lord. Other candidates posted some entries to the wrong side of the
accounts. Also, some candidates had their entries reversed in the
accounts and others could not record all the transactions in the
accounts. These mistakes led to the variation in scores from 7 to 11.5
marks implying that the candidates had satisfactory knowledge and
competence in Accounting for Royalties.

The analysis of candidates’ responses shows that the candidates with

poor performance in this question 33 (2.5%), were not able to prepare

the required accounts. Most of them computed wrong amounts of

actual royalties, short workings, short workings recoupable, short
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workings irrecoupable and royalties payable to the landlord. Others
opened the required accounts but entered a mixture of correct and
wrong entries, narrations or amounts and could not apply the principle
of double entry in recording the transactions. Most of these candidates
entered some items once in the accounts and others posted entries to
the wrong side of the accounts. Also, it was noted that the candidates
in this group could not make appropriate classification of the
transactions. These candidates did not know which of the given
transactions should be recorded in the royalties payable, Civil Estates
Ltd and the royalties short workings accounts respectively.
Consequently, the candidates recorded and posted transactions to the
wrong accounts. Extract 12.2 is a sample of a poor response from one
of the candidates.
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Extract 12.2: A sample of a poor response from a candidate
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2.2.6 Question 6: Company Accounts
The question required the candidates to use the information provided
to prepare Uchumi Ltd’s Income Statement and Profit and Loss
Appropriation account for the year ended 30" June 2019 and the
Statement of Financial position as at 30" June 2019.

The question was attempted by 949 (70.5%) candidates, out of which
60 (6.3%) scored from 0O to 6.5 marks, 448 (47.2%) scored from 7 to
11.5 marks and 441 (46.5%) scored from 12 to 20 out of the 20
allotted marks. The candidates' performance in this question was good.
Figure 14 presents the performance of the candidates in question 6.

6.3%

Scores
m0-6.5
7-11.5
m12-20

Figurel4: The Performance of the Candidates in Question 6

The candidates who scored from 12 to 20 marks 441 (46.5%) were
able to prepare correctly the income statement and the statement of
financial position. They sorted out the elements of Income Statement
from the elements of Statement of Financial Position and made
appropriate adjustments for accruals and prepayments relating to
revenues and expenses. Also, the candidates in this group made proper
classification of liabilities and assets and skilfully presented them in
the Statement of Financial Position. However, some errors and
omissions in the candidates' responses caused the scores to vary from
12 to 20 marks. These responses suggest that the candidates had
adequate knowledge and skills in the preparation of financial
statements. Extract 13.1 is a sample of a good response from one of the
candidates.
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Extract 13.1: A sample of a good response from a candidate
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The candidates with average performance in this question 448 (47.2%)
faced some challenges in attempting the question. Most of the
candidates were able to sort out the elements of Income Statement
from those of the Statement of Financial Position. However, these
candidates made wrong adjustments for accruals and prepayments
relating to some of the items of revenues and expenses. Also, there
were candidates who included some items of assets and liabilities in
the income statement. Omissions of some items in the Income
Statement and the Statement of Financial Position were also noted in
the candidates' responses. Despite the errors and omissions observed,
the candidates achieved average performance by scoring from 7 to
11.5 marks. This average performance indicates that the candidates
had satisfactory knowledge of the preparation of financial statements.

The analysis of candidates’ responses shows that the candidates who
scored from 0 to 6.5 marks in this question 60 (6.3%) could not
produce the expected responses to the question. Some candidates in
this category could not interpret the demands of the question. They
prepared a trial balance instead of the financial statements. This
response indicates that the candidates lacked knowledge of the
financial statements and could not differentiate the financial statements
from the trial balance. Likewise, some candidates in this category
could not make adjustments for accruals and prepayments for most of
the items of financial statements; thus, they presented a mixture of
correct and incorrect amounts of revenues and expenses. Nevertheless,
some candidates in this group presented the financial statements in
horizontal format. This suggests that the candidates lacked competence
in the preparation of financial statements in accordance to International
Accounting Standard number 1 (IAS 1). The analysis of candidates’
responses further shows that some candidates in this category could
not identify the items of revenue and expenses that are presented in the
Income Statement from the items of assets and liabilities that are
presented in the Statement of Financial Position. They included some
items of assets and liabilities in the Income Statement and some items
of expenses in the Statement of financial position. These responses
indicate that the candidates were not competent in the preparation of
financial statements. Extract 13.2 is a sample of a poor response from
one of the candidates.
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Extract 13.2: A sample of a poor response from a candidate



2.2.7 Question 7: Partnership Accounting
The question required the candidates to use the information provided
to prepare the Revaluation Accounts of CB Enterprises and MY
Traders on 30™ June, 2019; the Partners’ Capital Accounts in the new
firm and the Statement of Financial Position of MS CB & MY Traders
as at 1 July 2019.

The question was attempted by 494 (36.7%) candidates, out of which
418 (84.6%) scored from 0 to 6.5 marks, 65 (13.2%) scored from 7 to
11.5 marks and 11 (2.2%) scored from 12 to 20 out of the 20 allotted
marks. The candidates' performance in this question was poor as
shown in Figure 15.
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Figure 15: The Performance of the Candidates in Question 7

The analysis of candidates’ responses show that the candidates who
scored from 0 to 6.5 marks in this question 418 (84.6%) could not
respond to the question correctly. Most of them lacked knowledge of
the subject matter. These candidates failed to determine whether there
was an increase or a decrease in the values of the revalued assets and
liabilities. Consequently, they entered book values of the assets and
liabilities in the revaluation accounts instead of the marginal increases
and decreases in the values of the revalued assets and liabilities. Other
candidates prepared current accounts of the partners instead of the
revaluation accounts of the firms. This response indicates that the
candidates did not know how the revaluation accounts looks like and
could not differentiate the revaluation accounts from the current
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accounts. However, there were candidates who opened the revaluation
accounts but could not know which of the information provided in the
question is recorded in the accounts. These candidates copied whatever
item appearing on the question paper into the debit and credit sides of
the revaluation accounts. Some candidates in this group computed
correct amounts of the marginal increases and decreases in the values
of the revalued assets and liabilities. These candidates failed to decide
whether to debit the revaluation accounts with the marginal increases
or the marginal decreases. Consequently, the candidates entered a
mixture of correct and wrong entries in the accounts. This response
suggests that the candidates were not competent in applying the
principle of double entry in recording business transactions. It was also
noted that some candidates in this category entered a mixture of assets
and liabilities in the partners’ capital accounts; many candidates made
correct entries for the opening balances of the partners’ capital
accounts of TZS 300,000, 400,000, 240,000 and 220,000 for China,
Busweru, Muya and Yuda respectively. The rest of the entries in the
Partners’ capital accounts either contained inappropriate narrations or
wrong amounts. Further analysis of candidates’ responses shows that
none of the candidates in this group prepared the statement of financial
position of MS CB & MY Traders at 1% July 2019. Such poor
responses of the candidates indicate that the candidates were not
competent in accounting for the amalgamation of partnership firms.
Extract 14.1 is a sample of a poor response from one of the candidates.
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Extract 14.1: A sample of a poor re'spronse from a candidate
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The candidates with average performance in this question 65 (13.2%)
adhered to the demands of the question by opening the required
accounts. Most of them were able to determine the marginal increases
and decreases in the values of the revalued assets and liabilities.
However, their records in the accounts contained some reversed
entries, omission of some transactions and entries posted to the wrong
side of the accounts. Very few candidates in this group prepared the
statement of financial position of the new firm. Despite the errors and
omissions made by these candidates in their responses, they were able
to score average marks and this indicates that they had satisfactory
knowledge and competence in accounting for the amalgamation of
partnership firms.

The candidates who scored from 12 to 20 marks 11 (2.2%) had
sufficient knowledge and competence in accounting for the
amalgamation of partnership firms. These candidates prepared the
revaluation accounts, partners’ capital accounts and the statement of
financial position of MS CB & MY Traders at 1% July 2019. They
accurately computed the marginal increases and decreases in the
values of the revalued assets and liabilities. Most of their entries in the
relevant accounts were correct. However, some errors and omission of
some transactions in the accounts were noted. These variations in the
candidates' responses caused their scores to vary from 12 to 20 marks.
These responses indicate that the candidates had adequate knowledge
and competence in Accounting for the amalgamation of partnership
firms. Extract 14.2 is a sample of a good response from one of the
candidates.
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Extract 14.2: A sample of a good response from a candidate
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2.2.8 Question 8: Payroll Accounting
The question required the candidates to use the information provided
to prepare the Payroll of Kiota Jungle Ltd for the month of October,
2019 and the General Journal to record the payroll on 28" October,
2019 and its payment by cheque on 31* October, 2019.

The question was attempted by 1,232 (91.5%) candidates, out of which
912 (74%) scored from 0 to 6.5 marks, 196 (15.9%) scored from 7 to
11.5 marks and 124 (10.1%) per cent scored from 12 to 20 out of the
20 allotted marks. The candidates' performance in this question was
poor as shown in Figure 16.
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Figure 16: The Performance of the Candidates in Question 8

The analysis of candidates’ responses shows that 912 (74%) candidates
scored from 0 to 6.5 marks in this question. These candidates were not
able to prepare the Payroll and the General Journal to record the
payroll. Most of these candidates could not interpret the requirements
of the question. They prepared salary slips for the employees of Kiota
Jungle Ltd instead of the payroll of the company. This response
suggests that the candidates did not know how the payroll looks like
and could not differentiate it from salary slips. Other candidates
prepared the sales journal, purchases journal, personal account and

59



suspense account instead of the payroll and general journal. This
response suggests that the candidates lacked not only the knowledge of
the payroll and general journal but also the ability to differentiate the
payroll and general journal from the sales journal, purchases journal,
personal accounts and the suspense account. The analysis further show
that the candidates in this group lacked knowledge of the subject
matter. These candidates computed wrong amounts of income tax
deductible from the employee’s salaries. This response indicates that
the candidates lacked the competence of using the tax table which is
usually issued by the Tax Revenue Authorities to employers to help
them compute fair tax to be withheld from employee’s salaries. In the
same instance, these candidates computed wrong amounts of other
deductions from the employees’ salaries that are payable to PSPF,
salary advance and charity contribution. Likewise, inability of the
candidates to use the principle of double entry in recording and posting
of business transactions in the accounts contributed to their poor
performance. The candidates did not know which of the salaries
expense, income tax payable, PSPF payable, salaries advance,
employer’s contribution to PSPF and charity contribution accounts
should be debited or credited at the time of recording the payroll and at
the time of its payment. Consequently, their records in the journal
comprised of a mixture of correct and wrong accounts, amounts and
narrations. Moreover, the accounts of other candidates in this group
contained a mixture of correct, reversed and entries posted to the
wrong side. It has been observed that some candidates in this category
could not prepare the journal entries to record the payroll and its
payment. This means that the candidates avoided the task of the
question; and as a result, they scored poorly from 0 to 6.5 marks.
Extract 15.1 is a sample of a poor response from one of the candidates.
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Extract 15.1: A sample of a poor response from a candidate
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The candidates with average performance in this question 196
(15.9%) adhered to the requirement of the question to some extent.
They computed the amounts of basic salaries for the employees,
monetary allowances to the employees and the amounts of deductions
from the employee’s salaries. They prepared the payroll and the
general journal to record the payroll and its payment. However, their
records in the accounts contained some errors and omissions. Despite
the errors and omissions in their records, the candidates were able to
score averagely from 7 to 11.5 marks. Their average scores suggest
that the candidates had satisfactory knowledge and competences in
payroll accounting.

The candidates who scored from 12 to 20 marks in this question 124
(10.1%) were able to prepare the payroll and the general journal to
record the payroll and its payment. The candidates computed the
amounts of basic salaries for the employees, monetary allowances to
the employees and the amounts of deductions from the employee’s
salaries. They prepared the payroll and the general journal to record
the payroll and its payment and most of their records in the payroll
and the journal were correct. However, some candidates in this group
committed some errors and omissions of some transactions in the
payroll and the journal. These errors and omissions caused their
scores to vary from 12 to 20 marks. Generally, the performance of
these candidates was good and one of them scored 20 out of the 20
allotted marks. These responses indicate that the candidates were
competent in accounting for payroll. Extract 15.2 is a sample of a
good response from one of the candidates.
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3.0

ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER TOPIC

The analysis of the candidates' performance in each topic indicates that out
of 16 topics examined this year, 12 topics had good performance; 1 topic
had average performance and 3 topics had poor performance.

The topics which had good performance were: Containers Accounts
(98.2%), Accounting for Royalties (97.5%), Preparation of Financial
Statements (96.6%), Depreciation and Disposal of Non-current Assets
(96.2%), Company Accounts (93.7%), Recognition of Revenue and
Expenses (93.1%), Auditing (90.8%), Branch Accounting (89.6%), Financial
Statements Analysis and Interpretation (81%), Computerised Accounting
(78.3%), Investment Accounts (78%) and The Nature and Context of
Accounting (62.1%). The good performance was attributed to adequate
knowledge and competence of the candidates on the tested topics, ability of
the candidates to understand the requirement of the questions, proper
application of the principle of double entry in recording business
transactions and provision of relevant and clear explanations or descriptions
of accounting concepts and terminologies in their responses.

The topic which had average performance was Correction of Accounting
Errors (55.4%). The analysis indicates that the average performance of
candidates in this topic was contributed by the candidate’s limited ability to
identify the accounts affected by the errors, to determine the effects of
errors on the accounts and to apply the principle of double entry in
recording the correcting journal entries.

On the other hand, poor performance was observed in the topics of Payroll
Accounting (26%), Hire Purchase Accounting (24.5%) and Partnership
Accounting (15.4%). The poor performance in these topics was attributed to
the candidates’ inadequate practical skills and knowledge of the subject
content of these topics, misconceptions of the questions and lack of
proficiency in the English Language. The analysis of the candidates'
performance in each topic is summarized in the Appendix.

The comparison of the candidates' performance in each topic between 2019

and 2020 shows that the performance has improved in the topics of

Accounting for Royalties, Containers Accounts, Preparation of Financial

Statements, and Branch Accounting but it has decreased in the topics of

Company Accounts, The Nature and Context of Accounting and
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4.0

Partnership Accounting. It was observed that the decrease of the
candidates’ performance in these topics was attributed to inadequate
knowledge of the examined sub topic and misinterpretation of the
questions.

CONCLUSION AND RECOMMENDATIONS

4.1 Conclusion

The general performance of the candidates in 153 Accountancy for the
ACSEE 2020 was good since 1,324 (98.66%) candidates passed by
scoring A to S grades. In the year 2020, the pass rate of the candidates in
the Accountancy examination has increase by 2.58 per cent compared to
the year 2019. The analysis of the candidates’ performance in each
question indicates that the candidates with good performance had adequate
knowledge and practical skills of the tested topics, understood the
questions requirement and proficiency in the English Language. Those
with average performance provided partial responses due to limited
knowledge and practical skills of the topics tested. Besides, the candidates
with weak performance misinterpreted the demands of the questions;
lacked knowledge of the topics tested and lacked proficiency in the
English Language.

The analysis of candidates' performance revealed that the candidates had
the highest performance in question number 4 of paper 2 which was set
from the topic of Containers Accounts (98,2%). The lowest performance
of the candidates was in question number 7 of paper 2 which was set from
the topic of Partnership Accounting (15.4%). See Appendix.
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4.2 Recommendations
In order to maintain the good performance of candidates in Accountancy
examination in future, it is recommended that:

(a)

(b)

(©)

(d)

(€)

Teachers should guide students using charts of accounts on the preparation
of relevant accounts and financial statements during the Admission of a
new partner, Amalgamation of partnership firms, Retirement or death of a
partner and Dissolution of a partnership firm.

Teachers should guide students using samples of Payroll and Salary Slips
(Real/Photocopy or teacher made) on the preparation of Payroll and
employee’s Earnings Statements to enable them realise the difference
between the Payroll and a Salary Slip.

Teachers should guide students using charts of accounts on the preparation
of relevant accounts and financial statements in the books of both; Hire
Purchaser and Hire Purchase VVendor.

Teachers should teach students examination taking techniques. They
should teach the candidates the best approaches to attempt
examinations, the means to identify the task of the questions and the
importance of understanding the task of an examination question
before attempting it.

Teachers should encourage students to create a habit of reading a
variety of reading materials written in the English language like
novels, articles, plays and newspapers. They should practice the
language in order to improve their listening, speaking and writing
skills in the language.
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The Summary of Candidates’ Performance per Topic

Appendix

ACSEE 2020

Question
Number

Sn Topic

1 | Containers Accounts

2 | Accounting for Royalties
Preparation of Financial
Statements

4 Depreciation and Disposal
of Non - Current Assets

5 | Company Accounts
Recognition of Revenue

6
and Expenses

7 | Auditing

g8 | Branch Accounting
Financial Statements

9 | Analysis and
Interpretation

10 | Computerised Accounting

11 | Investment Accounts

12 The Nature and Context of
Accounting

13 Correction of Accounting
Errors

14 | Payroll Accounting

15 | Hire Purchase Accounting

16 | Partnership Accounting

Paper 1 |Paper 2
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